[ Efficiency vs vertpos |
- 05

20.45
4

2 04
(8]
$0.35
0.3

0.25

ettic

b AN LR LR LR LR RRRRE LRRLE LRRRN AR

HyF
o 1R :
=1 H EdE 3
g {1+
1 - -4 -4-1-{
-2
10

107 1

10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbase

Efficiend

—— DQM_CKF_TT_retrainOldFiles113
—+— DQM_CKF_TT_retrainOldFiles125_v2

N 0.5: T T

Q4B oo

4 E . "

> 04E e A

> E : 3

g F : 3

e S s SRSt ST TU

o - . N

=T SRR S N SISTITH T S

o E : :
0.2 -++ebeeeeesdnenenndin b A
02;— ------- AR
TS SOV UM SRS SO SO SO
1 SN SR NN S A
0.05F ++vecfeesingenecdeceespiocfoonebneens
£=....i....it.*’.“."r".'-.*".*tﬁ.........

2 "™ : ! | | 1

I F : i i l ]

L A b g o o
PSSR 111
%3520 -10 0 10 20 30

[ Efficiency vs. sim PV z |

TP vert z (cm)

N 0.
>
2.0.09
£
50.08
20.07
o)
20.06,
[}
(&}
£0.05
()
0.04
0.03
0.02

0.0

...............................

..............................

n
L

................

...............

1.0

Ratio

1

0.95

o

9
9,

BT
o

10

15 20

éim. PV z (cm)




	Contents
	Page 1


